CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 PAVEMENT REHABILITATION PROJECT - BOGEY CT, BYRUM CT & WINGED FOOT CT PROJECT NO. 14-2183 / CIP NO. 50844

JUNE 26, 2015

ORIGINAL CONTRACT AMOUNT: \$214,292.50 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

			CURRENT	4.15.17.00	EVENDED	AD ILIOTED	AD HIOTED	
LINE	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	Mobilization	LS	1.00	\$10,000.00	\$10,000.00	1.00	\$10,000.00	\$0.00
2	Unclassified Excavation	CY	400.00	\$35.00	\$14,000.00	400.00	\$14,000.00	\$0.00
3	Remove Curb & Gutter	LF	550.00	\$8.15	\$4,482.50	550.00	\$4,482.50	\$0.00
4	Remove Sidewalk	SF	2,240.00	\$1.80	\$4,032.00	2,240.00	\$4,032.00	\$0.00
5	Remove Asphalt Pavement	ŞYD	2,665.00	\$5.45	\$14,524 <i>.</i> 25	2,665.00	\$14,524.25	\$0.00
6	Remove PCC Fillet	SYD	100.00	\$16.25	\$1,625.00	100.00	\$1 <u>,</u> 625.00	\$0.00
7	Remove PCC Approach Pavement	ŞYD	125.00	\$19.25	\$2,406.25	150.00	\$2,887.50	\$481.25
8	Remove PCC Driveway Pavement	SYD	35.00	\$18.50	\$647.50	90.00	\$1,665.00	\$1,017.50
9	3/4" Base Course	TON	1,100.00	\$28.00	\$30,800.00	1,100.00	\$30,800.00	\$0.00
10	AC, Class G, Type 1 PG64-28	TON	760.00	\$89.15	\$67,754.00	760.00	\$67,754.00	\$0.00
11	Type 3 Foundation Material	TON	20.00	\$66.85	\$1,337.00	20.00	\$1,337.00	\$0.00
12	Geogrid Fabric Material	SY	600.00	\$3.00	\$1,800.00	1,074.00	\$3,222.00	\$1,422.00
13	Curb & Gutter	LF	550.00	\$28.35	\$15,592.50	1,019.00	\$28,888.65	\$13,296.15
14	6" PCC Fillet	SYD	100.00	\$82.95	\$8,295.00	100.00	\$8,295.00	\$0.00
15	4" Sidewalk	SF	2,240.00	\$5.25	\$11,760.00	2,240.00	\$11,760.00	\$0.00
16	PCC Driveway Approach Pavement 6", Nonreinforced	SY	125.00	\$51.50	\$6,437.50	150.00	\$7,725.00	\$1,287.50
17	PCC Driveway Pavement 4", Nonreinforced	SYD	35.00	\$37.50	\$1,312.50	90.00	\$3,375.00	\$2,062.50
18	Detectible Warning Panel	SF	48.00	\$25.00	\$1,200.00	48.00	\$1,200.00	\$0.00
19	Adjust Water Valve	EA	2.00	\$125.00	\$250.00	2.00	- \$250.00	\$0.00
20	Adjust Sanitary Manhole	EA	1.00	\$300.00	\$300.00	1.00	\$300.00	\$0.00
21	Sodding	1.00	90.00	\$64.00	\$5,760.00	220.00	\$14,080.00	\$8,320.00
22	Gravel Filter Socks	LF	45.00	\$12.30	\$553.50	45.00	\$553.50	\$0.00
23	Remove & Reset Sign	EA	2.00	\$150.00	\$300.00	2.00	\$300.00	\$0.00
24	Gravel Surfacing, Temporary	TON	100.00	\$25.00	\$2,500.00	100.00	\$2,500.00	\$0.00
25	Traffic Control	LS	1.00	\$3,000.00	\$3,000.00	1.00	\$3,000.00	\$0.00
26	Incidental	LS	1.00	\$3,350.00	\$3,350.00	1.00	\$3,350.00	\$0.00
27	AASHTO T-180 Soil Test	EA	2.00	\$136.50	\$273.00	2.00	\$273.00	\$0.00
	TOTAL Control Winged Foot Ct				\$214,292.50		\$242,179.40	\$27,886.90

Pavement Rehabilitation Project - Bogey Ct, Byrum Ct and Winged Foot Ct

Project No. 14-2183 / CIP No. 50844

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$214,292.50
CCO #1	\$27,886.90	NET INCREASE/(DECREASE):	\$27,886.90
	\$0.00	ADJUSTED CONTRACT PRICE:	\$242,179.40
	\$0.00	CHANGE TO DATE:	\$27,886.90

CONTRACTOR: SIMON CONTRACTORS	DATE
PROJECT MANAGER: KLARE SCHROEDER, P.E.	DATE
CITY ENGINEER: DALE TECH, P.E. / L.S.	DATE
MAYOR: STEVE ALLENDER	DATE
FINANCE: PAULINE SUMPTION	DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1 to Simon Contractors of SD for an increase of \$27,886.90 based on unit pricing with the following appropriation:

Initial Funding	\$214,292.50		\$214,292.50
Fund Type	Streets		
Department	8910		
Line Item	4370	·	
Fund	0505		
CCO #1	\$27,886.90		\$27,886.90
Adjusted Funding	\$242,179.40 Ct, Byrun Ct and Winged Foot Ct	\$242,179.40	\$242,179.40
nt Renabilitation Project - Bogey No. 14-2183 / CIP No. 50844	Ct, Byrun Ct and Winged Foot Ct	\$2.12,770.10	ΨΖ-12,11010

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 PAVEMENT REHABILITATION PROJECT - BOGEY CT, BYRUM CT & WINGED FOOT CT PROJECT NO. 14-2183 / CIP NO. 50844

JUNE 26, 2015

ORIGINAL CONTRACT AMOUNT: \$214,292.50 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

LINE	-	
ITEM	DESCRIPTION	REASON FOR CHANGE
7	Remove PCC Approach Pavement	Plans error caused removal of two driveways
8	Remove PCC Driveway Pavement	Plans error caused removal of two driveways
12	Geogrid Fabric Material	Subgrade in Byrum and Bogey was not stable, added more geogrid to stabilize
13	Curb & Gutter	Had a plans error and needed to remove additional curb and gutter
16	PCC Driveway Approach Pavement 6"	Plans error caused removal of two driveways
17	PCC Driveway Pavement 4", Nonreinfo	Plans error caused removal of two driveways
21	Sodding	Plans error caused removal of two driveways

PREPARED BY: Klare Schroeder, P.E.

DATE: June 26, 2015

	FUNDING TYPE	Streets		
	COST CENTER	8910 4370		
	LINE ITEM			
	FUND	05	505	
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT	
1	Mobilization	0.00	100%	
2	Unclassified Excavation	0.00	100%	
3	Remove Curb & Gutter	0.00	100%	
4	Remove Sidewalk	0.00	100%	
5	Remove Asphalt Pavement	0.00	100%	
6	Remove PCC Fillet	0.00	100%	
7	Remove PCC Approach Pavement	481.25	100%	
8	Remove PCC Driveway Pavement	1,017.50	100%	
9	3/4" Base Course	0.00	100%	
10	AC, Class G, Type 1 PG64-28	0.00	100%	
11	Type 3 Foundation Material	0.00	100%	
12	Geogrid Fabric Material	1,422.00	100%	
13	Curb & Gutter	13,296.15	100%	
14	6" PCC Fillet	0.00	100%	
15	4" Sidewalk	0.00	100%	
16	PCC Driveway Approach Pavement 6	1,287.50	100%	
17	PCC Driveway Pavement 4", Nonrein	2,062.50	100%	
18	Detectible Warning Panel	0.00	100%	
19	Adjust Water Valve	0.00	100%	
20	Adjust Sanitary Manhole	0.00	100%	
21	Sodding	8,320.00	100%	
22	Gravel Filter Socks	0.00	100%	
23	Remove & Reset Sign	0.00	100%	
24	Gravel Surfacing, Temporary	0.00	100%	
25	Traffic Control	0.00	100%	
26	Incidental	0.00	100%	
27	AASHTO T-180 Soil Test	0.00	100%	
		\$27,886.90	************	